[image: image3.png]





RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


Y24S
Yamaha FJR1300 
2006-2012
	Kit for left side
	Kit for right side

	
	
	
	
	
	
	
	
	
	

	ID
	Description
	Cat. No.
	Pcs.
	
	ID
	Description
	Cat. No.
	Pcs.
	

	1
	Slider RDmoto
	SL
	1
	
	1
	Slider RDmoto
	SL
	1
	

	2
	Cover
	SLcap..
	1
	
	2
	Cover
	SLcap..
	1
	

	3
	Slider adapter
	DV-314
	1
	
	3
	Slider adapter
	DV-314
	1
	

	4
	Roller d=15mm
	93
	1
	
	4
	Roller d=15mm
	93
	1
	

	5
	Bolt M6x25
	877
	3
	
	5
	Bolt M6x25
	877
	3
	

	6
	Bolt M4x16
	876
	2
	
	6
	Bolt M4x16
	876
	2
	

	7
	Bolt M12x95x1,25mm
	900
	1
	
	7
	Bolt M12x85x1,25mm
	899
	1
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


Mounting Instructions: Right side
1. Unscrew the original bolt.
2. Use the ID. 7 Bolt and ID. 4 roller to attach the ID.3 Adapter. To get the slider in the correct angle, the M6 thread needs to be facing upwards. 
3. Attach the ID. 1 Slider with ID.5 Bolts.
4. Finally, insert the ID.2 cover into your slider and fix with ID. 6 Bolts.
Note – We recommend using medium strenght thread glue for all bolts (blue color).
Mounting Instructions: Left Side
1. Unscrew the original bolt.
2. Use the ID. 7 Bolt and ID. 4 roller to attach the ID.3 Adapter. To get the slider in the correct angle, the M6 thread needs to be facing upwards. 
3. Attach the ID. 1 Slider with ID.5 Bolts.
4. Finally, insert the ID.2 cover into your slider and fix with ID. 6 Bolts.
Note – We recommend using medium strenght thread glue for all bolts (blue color).

[image: image1.png]



[image: image2.png]



1

